SU9152-GP

Item# | Description Part# Item# Description Part#
1 Head-pipe #1 HP-SUGSXR1000-171SS 13 Spigot (x4) SP3S
2 Head-pipe #2 HP-SUGSXR1000-172SS 14 Flange (x4) FL3S
3 Head-pipe #3 HP-SUGSXR1000-173SS 15 O-ring (x4) OR-029S70
4 Head-pipe #4 HP-SUGSXR1000-174SS 16 Spacer (x2) SPA-1
5 Collector Unit CU-SUGSXR1000-17SS 17 Valve Eliminator KAG0O01
6 GP Mid-pipe MP-SUGSXR1000-17GPSR 18 8x40mm Button Head Bolt (x2) FA-BH840B
7 GP Muffler FCM-SUGSXR1000-09CB 19 8x35mm Hex Flange Bolt FA-HF835B
8 Spring (x10) SG-63 20 8x60mm Hex Flange Bolt FA-HF860B
9 8mm Nut (x4) FA-HH8N 21 Body Work Stand-off SPA-24
10 Muffler Bracket GS136 22 6x25mm Button Head Bolt FA-BH625B
11 M12 Plug FA-HF128PP 23 6mm Fender Washer FA-6FENDER
12 M18 Plug 02BP-M18-K




